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I 'm mwn: mxn related to the nmay which do not apply to women

a

b

n2'no (as per vv. 1)
nann (as per vv. 2)
i exceptions:

1

N0 NNInN

(a) source:
(i) v.9 establishes obligation of nan for nvIL NN
(ii) v. 10 establishes that the D’%ya must do nann
1. the two are connected via T:: 7
2. conclusion: in both cases, 103 and n*9ya lift together
2 pnonnd — derives from nvIo nMn via 93::93 (vv. 11-12)
nwin (as per v. 3)
nxnp (v. 4)
nopn (v. 5)
mpvn (v. 6 — associated with v. 5)
010 nYap (v. 7 - ypm is a reference to o101 nYap)
RN —
i question: which nrtn?
1  If: the refernt is nnyIR Mo —
(a) Rejection: that only allows for 71y9x (even other n’n are invalidated for that)
2 If: the referent is to those mrtn that take place inside the wTpn (N7 MmKrYN)
(@) Rejection: the requirement is 5173 112 — as per v. 8
3 Rather: the rerferent must be nx1n of a yy-1a
(a) Source:1"p:
(i) If: an animal, which allows for a non-1n3 for no’nw, does not allow for a woman for nTn np»*
(if) Then: 91y, which requires 103 for np*9n (= nv’nw), does not allow for a woman for Nt (=1"n71)
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